AR DEFE/ 2R & http://toitemita.sakura.ne.jp

W =ABA L DM
A, B=AEE

1.

o =1
y=sin" x
E T E T DBEBOERITE RN, y=sinx DWFEBPF(ET 57201213,
HDy DIEIZH L, 72721 20 x OEAREG LT iud e 570,

*Z T, y=sinx®ﬁ%i@2%ﬁ—%ﬁx£%&ﬁ&),
Z O y DD x DfEi~ & fifa) E (S S 7Bz,
T2 b y=sinx [—%Sxﬁ%) DRI %E x =sin”' y £721L x =arcsiny THET,

M2 sin !yl [7—29 A y) EFte,

sin x
y :
oz
2 v
sin ! X 7 >
y ZX
2




AR DEFE/ 2R & http://toitemita.sakura.ne.jp

EBIZ, x=sinT'y TIE, EFREA y, EHESAx THDHZ L L
77 7 MBS, TR A, (A e & D EIEN G,

J=sinx [—%Sx_gj D57 HER = x AT 180° EET S 2 LT,

x=sin" yDr T 7 LT 5,

l\)|§]k

= >
sin” y [<

Yy sin x 1

=Y



AR DEFE/ 2R & http://toitemita.sakura.ne.jp

ZLTEBHIT, MllIx, Xy &7 2EEND,
yEx, xEyIlEESHIHZLICLY, y=sin'x 2 L,

ZH%E y=sinx (—%Sxﬁ%] DO E PR LT 5,

=Y



AR DEFE/ 2R & http://toitemita.sakura.ne.jp

F7o, oz ky,
y =sinx [—%Sxﬁ%) DIT7Ly=sin ' xDI T 7T y=xITHLTHHETH 5,

w2
RIS, y=f(x)D 7T 7L Z0WEky= () D7 T 7 y=xICHL THHETH 5,

%
%
Z Jeensnnsennnnnnnnennnnnunnnnnnnn 7
2 y=x4
e

. /

. /

: /

: %

- | . 4
y=sinoxfo 4

:,/’

] pessssssssssnnnnnnnnnnnnnnnfuns SCALLLLLEELLIT
V]
e ;
S y=sinx
/,
/
/2,
7,
%

T
2 -1
: "
. :
H /4
2
H 2,
: 4,
: g
: 4
H ’
. ’
: ’
. ’
H e
: 7
s
T,
LTTTTETTTT N S PP R 1
-
s
S
/
/
/
/
/
/
/
S
S
2 -z
e 2



AR DEFE/ 2R & http://toitemita.sakura.ne.jp

2. y= cos”™' x

RIS, y=cosx (0<x<7) DWif¥k%E y=cos™ x &35,

=Y




AR DEFE/ 2R & http://toitemita.sakura.ne.jp

4 _1 hesssssssssssEEsEssEEEES NS SN SEEEESEEEESEEEESEEEESSEEEEEEEEEEEEEEEEEEEEE




AR DEFE/ 2R & http://toitemita.sakura.ne.jp

3. y=tan"'x

[FEAEIZ, y=tanx {—%<x<%j OWi¥AE y=tan x LT 5,

yA

=Y




Qe.jp

ta.sakura

i

//toitem

http

RIF DR F

= tan




R ORE NS

http://toitemita.sakura.ne.jp

B. ¥ =AW
1. y=sin~' x DL

y=sin"'x XV, x=siny(—%£y£%j

T % x TS L, @:dsmyctb’ l:dsmy
dx dx dx
Zhk
dsiny dsiny dy
dx dy dx
dy
_COS o —
Y dx
=l-sin® y .=
= 1_x2.ﬂ
dx
X, 1=\/1—x2.ﬂ
dx
dy 1 .1 ' 1
£-oTC, —=———, Tbb, (sm x):
dx 1—x V1-x?
F7, @ _

N, C =si ’_zg Sl) C IR TEE
0 \/1— j\/_ v+ (x sin y,~—- <y <7 (CITFED EXD)
2. y=cos”' x DKLy

y=cos'x £V, x=cosy(0<y<nx)

Wi x T B b, DoAY oy g deosy

X dx ’ dx
hk
dcosy dcosy dy
dx dy dx
=—siny-ﬂ
X
dy
=—y/1—cos® y - —
4 dx
=—/1-x? b
dx
=—1-x* b
dx
dy 1 -1 ' 1
XoT, === , Thbb, (cos x) =
dx  \1-x? 1-x?



AR DEFE/ 2R & http://toitemita.sakura.ne.jp

3. y= tan_l X 0)%&67\

y:tanflxi@, x:tany {_%<y<%j

W0 % x TS T S &, ?:dtanycm’ |_dtany

e dx dx
hé
dtany dtany dy
dx dy dx
__ 1
cos®y dx
dy
=(l+tan? y) =
1+ tan y)- 2
=1+ x? L
dx
Lo, l=(l+x2).ﬂ
dx
id ! a0 1
£o7TC, == , Tb, (tan x) =
dx  1+x? ( ) 1+ 2
dy 1 dx ju x -
Fle, —= Mne, =y+C|x=tany,——<y<— (CITFES T
X 1+x2 +)C2 2 5

10



